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MASTER OF COMMERCE
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==
June, 2016 15774
MCO-05 : ACCOUNTING FOR MANAGERIAL
DECISIONS
Time : 3 hours Maximum Marks : 100

Weightage 70%

Note : Attempt any five questions. All questions cdrry equal
marks.

1.  What is meant by Accounting Standard ? What
is the legal status of accounting standards in
India ? 8+12

2.  Discuss the utility and significance of financial 20
statements to various parties interested in the
business concern.

3. What are the different techniques of financial
analysis ? Explain any two of them. 5+15

4. What do you mean by the term ‘Budgetary
control’ ? What are its advantages ? Also explain
the statement that, “A budget is a means and
Budgetary control is the end result”. 5+7+8

5. Define Responsibility Accounting. Discuss its
salient features. ' 5+15
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“The technique of Marginal costing is more used
to provide a reasonable and sound basis for
managerial decisions than to arrive at product
cost”. Explain this statement with examples.

Following is the summary of cash transactions

7+7+6

extracted from the books of X Ltd.
T T
Balance as on 35,000|Payments to  {20,47,000
1-7-2014 Suppliers
Receipts from |27,83,000{Payments for 2,30,000
Customers Fixed assets
Issue of shares| 3,00,000 |Payments for 1,15,000
Overheads
Sale of fixed 1,28,000{Salaries 69,000
Assets
Income tax 2,43,000
80,000
Dividends paid
Repayment of | 2,50,000
Bank Loan
32,46,000 30,34,000

Balance as on 30-6-2015 ¥ 2,12,000. Prepare a
Cash Flow Statement of the company for the
period ended 30t June 2015.

8. A manufacturing concern which has adopted
standard costing furnishes the following
information : 6+7+7
Standard :

Materials for 70 kg of Finished 100 kg.
Products
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Price of Materials %1 per kg.

Actual :

Output 2,10,000 kg.
Materials used 2,80,000 kg.
Cost of materials 3 2,552,000
Calculate various variances in respect of Material
Cost.

9. A manufacturing concern has the production
capacity of 20,000 units per annum. The expenses
budgeted for 10,000 units for a period are listed

below : . 10+10
Per unit (%)

Materials 40
Wages (50% Variable) 20
Manufacturing Expenses (40% Fixed) 10
Administrative Expenses (All Fixed) 5
Selling & Distribution Exp. (60% Fixed)  _5

Total cost 80

Profit 20

Selling Price 100

Prepare a flexible budget to show 70% and 100%
levels of activity. It is expected that the present
unit selling price will remain constant upto 60%
activity beyond which a 5% reduction is
contemplated upto 90% activity level. Above 90%

1
a 2-2- % reduction in original price is contemplated

for every 5% increase in volume.
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I | HTdehiaT SaTfy
[Fd a1
I, 2016
TaHL3N.-05 : weuehg foial & fam e
THg : 3 ¥ ferFad 3% 100
FT FT 70%

qie . el ara v & I S Wit g & o7 WA €

1. ST yEe H A4 €2 vra § SEiwd gul #i
Jenfaes feufa s &2 8+12

2. EgiysE geen o feg w@n oo fafv= gelil & fed 20
foitg faaeon =t Syaifiar 9 g W g <o |

3. faxita fawowo =) fafi= it S-fR @t &2
¥ fF= < = TuEmEd 5+15

4. ‘w9 e 9 oue = oy 7 TR w
v €2 ‘I T HIeEm € au seied frEr sifam
gRomm "’ 39 wua &t Wi s Hifvu| 5+7+8

5. IWQaE A@iEwT H IReIa Ffed | 3EE g
fagromsii &1 aoi= wifed | 5+15
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6. ‘'‘Hruad arma fofy o sfvem wWm s Ara T@ 20
F HI 3T9aT Y ol % o sfea 9 45
YR TR FH & o1 fopan STan €1 39 wem #h

IETET0T Wfea SATEA TSIy |
7. T fa # e 9 3 ™ T el w1 9N
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z z

1-7-2014 I | 35,000 qfifeaiati w1 yram 20,47,000
Treeh] & Wit [27,83,000 [w wuftdi &% fad e | 2,30,000
i o fefea | 3,00,000{3ufterdi & frd e 1,15,000
i Hufdi 1

- 1,28,000 (3 69,000
HTAHT 2,43,000

S T foa 80,000

e B H FTEE 2,50,000

32,46,000 30,314,000

30-6-2015 T I T 2,12,000 | 30 [F 2015 H! T
T Al oaty & o e w1 s g faem
TR Fifs

8. U fuivl ween 3, S w9 wmra-fafy wam et §)

g e 6+7+7
THIY

70 formn. fafifa saag & fod it 100 f&Fm.
Pkl Z 1 wfg fom.
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